1. Вычти число 7. Впиши в «окошки» нужные числа.

16  –  7  =                       12  –  7  =  

13  –  7  =                       15  –  7  = 

2. Вычти число 7 с помощью таблицы сложения.

11 – 7 =                        15 – 7 =

13 – 7 =                         14 – 7 =

2. Вычти число 7. Впиши в «окошки» нужные числа.

16  –  7  =                       12  –  7  =  

13  –  7  =                       15  –  7  = 

2. Вычти число 7 с помощью таблицы сложения.

11 – 7 =                        15 – 7 =

13 – 7 =                         14 – 7 =

